ST. XAVIER'S SENIOR SECONDARY SCHOOL, DELHI-54

Class : 4 SUMMATIVE ASSESSMENT 2 Marks: 60
Date : 03.03.2015 MATHS Time: 1% hours
Name: Class & Sec. R. No.

Note: All the answers should be done on the question paper itself.

Mental Maths: (1X15=15)
94 .
1. — = (decimal form)
100

2. Place value of 3in 16.43 =

3. Expanded form of 49.068 =

4, 8+—+— = (short form)

5. 0.06 = (fraction form)

6. Fifty hundredths = 0.500 (true/false)

7. * 87.54 8754 p (put >,<or=)

8. 92850p = "92.850 (true/false)

9. 2 km = m

10. 1 quintal = kg

11. The standard unit for measuring capacity is

12. Aleap year has weeks and days.

13. The cost of 6 clipsis " 42. What will be the cost of 1 clip? Ans

14. 1 century = years

15.  The short form of writing the date 23™ March 2015 is
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Note: All the answers should be done on the answer sheet.

Write in words: (1x3=3)
1. ° 0.60

2. 34.168

3. © 80.05

Write in figures : (1x3=3)

1. One hundred two point seven five
2. Decimal zero five
3. Rupees forty and paise twenty

Convert : (2x5=10)

. 9 rupees 08 paise into paise
. 12 kg 9g into grams

. 3580 ¢m into metres

1

2

3. " 1.01 into paise

4

5. 9605 m¢ into litres

Add the following : (2x3=6)

1. '1546.35, " 167.58 and " 10.56

2. 52065m¢ and 9 ¢ 985ms
3. 23kg 265g and 15kg 550g

Subtract the following : (2x3=6)

1. 10¢ 200m# and 7¢ 375 m?
2. 20m 40cm and 15m 87cm

3. " 1000.00 and " 586.68
There are 5250 trees in 15 rows. How many trees are there in 42 rows? €))
Find the number of days from 26 Feb 2015 to 9 April 2015. 3)

Vinay’s uncle came for a visit. He arrived on Nov 23 and left on Dec 18.
How long did he stay? 3)

Out of a tin of 15kg 5009 of refined oil, 9kg 50g has been consumed. How much oil is left
in the tin? (3)

Mr Sharma bought biscuits for * 105.65 and bread for * 25.45 from a confectionary shop.
He gave a 500 rupee note to the shopkeeper. What amount does he get back? 4)
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